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e Please check that this question paper contains 7 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 25 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :
(1) There are 25 questions in all.
(11)  All questions are compulsory.

(111) Questions no. 1 — 14 are short-answer type questions carrying 2 marks
each. Answer to each question should not exceed 30 words.

(iv) Questions no. 15 — 21 are long-answer type questions carrying 4 marks
each. Answer to each question should not exceed 80 words.

(v) Questions.no. 22 - 25 are very long-answer type questions carrying
6 marks each. Answer to each question should not exceed 200 words.
Question no. 25 1s to be answered on the basis of the passage given.

Qusg <h
SECTION A

1.  SYcaeMTe! AT Sl 1 3 g ? 2

What 1s the meaning of dominant caste ?

2. YA g3l & Ufd EL.TA.H. A A% hH Toham ? 2
HAAT
T ITHT T hl IFg I T80 78 A STHR AT 2 | 4 2 2
In what ways have TNC’s adapted to Indian audience ?
OR

Cultural consumption shapes to a large extent the growth of cities. How ?
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qUTSHLOT T BIdT & ? 9
What 1s commodification ?
foRETI 3T Ykl o &= A FATET | 2
Differentiate between peasants and farmers.
TETeRToT 9 Et-3TTeT e sl fopd JhR Ifa fomar 2 9

AT
WA 9 9ieaH! TI18TT <hl &1 JHTd 98T ? 9
How did industrialization lead to de-industrialisation ?

OR

What was the impact of western education on India ?

AR A SR %l Yiehide &9 8 aftree qlish | sH1g T3 SHiisieh e
o €9 H CQ@T | ISTEN Aigd 36 A 61 3= 14g HINT | 2

Sociologists view market as social institutions that are constructed in
culturally specific way. Give examples to justify the statement.

fefSrea faure =61 319 =g ? 2
What is the meaning of digital divide ?

TR HifedT (SHEush q1egy) 3 TH0T TR TR &3 o o9 Ad Dl hd ThR
91T ? 2
How 1s mass media bridging the gap between rural and urban areas ?

fohal 2l 3CTELUN I §dTsU Toh YRUNeh ITTH SHaEeAT o T B9 ol GLeTd foha
T B 3R 38 U HIet § gl Wil sl gearaid foham T 7 | 2

AT
g9 4 9 AU faied 91d (thin air) ¥ 91 AT &d &; 80 WA $ 3cdTied gl

Hd 8 N drer, AT AT AEET § T ST Fehdl &l | ol 91q FHaq™
iz gl 3a18W ST | 2

Give any two examples to state that various forms of traditional
knowledge systems have been preserved and passed on from one
generation to another.

OR
Most of us make our money from thin air; we produce nothing that can be

welghed, touched or easily measured. Give any two examples of ‘thin air
businesses’.
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10. ANSH Iec | 39 =T 99d § ? 9

What do you understand by the term “Taylorism’ ?
11, 9ol JUT 3T qoRTHT S8 &5 § 8e & a9l H 3Tq-Sdi 681 0 g8 2 2

Why have areas such as Eastern UP and Telangana witnessed inter-caste
violence 1n recent years ?

12. UERAl % TU ATHEHT o &I 9id T & ? 2
HAAT
TTHIO TS | U™ G497 hl YHehT Farsy | 2
What are the main sources of income for panchayats ?
OR
State the role of gram sabha 1n village society.
13. 39 TRl 1 IP@ g, {8 g oSt & Toh-gal 8 9 @1 & | 2
Mention the ways in which the world 1s increasingly getting connected.
14. ST 36¢ bl HAaels o1 & ? 2
HAAT
WqATS! SHTEAT AT BT B 2 9
What does the term ‘begar’ mean ?
OR
What 1s ‘Ryotwar1’ system ?
Qus @
SECTION B
15. AT YA TsF A SEN{R ol agET ¢ § dishd fHeht 9T | hd ? 4
HAAT
IR T b G TSC-UsT Teh JYcasITel! TsHIideh Itk o €9 H IYAT |
ST hIToTT | 4

Independent Indian State played an active role i1n promoting
industrialization. How ?

OR
Nation-state became the dominant political form during the colonial

period. Explain.
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3MYHeh 3TN I U o a1 U 48& Sl ahl Tehed-T o1 ot ? 4

Envisage Nehru’s vision of modern and prosperous India.

YT U Udl Il g fop fafye gare d gfar fafay w91 9@ grn S 8 |

fodR ¥ 9qT8U | 4
AAAT

TS by SHSIIA! ohl FE=M T-SHSITAIT g1 shl STsRGEd dTehd o TfaUe 3

fauer o o= WX <higd 2 | AT ATCaE Yg=I o6 </ o6 hRUl 9 ==l

I | 4

Studies have shown that diverse family forms are found in different
societies. Elaborate.

OR

Many tribal identities today are centered on i1deas of resistance and
opposition to the overwhelming force of the non-tribal world. Discuss the
factors behind the assertion of tribal identities today.

eIl o §1¢ HRd H UH.TH. TIE1 H BH aTell GUTaHT T 9] hifolg | 4

Discuss the potential that FM stations have in post-liberalized India.

ACYHEIH! bl T tl-Heh GL&T A & T AT-T 2 4
3T

YT &bl TEST h1 Ueh TS ICTELT 8 HHT ST Hehdl & ? 4

Why should minorities be given constitutional protection ?
OR

How can India be considered a good example of a ‘nation-state’ ?

Sehell SIIEAT & HIEIH U Jiehd | Hdl &y Bidl & ? 4

How does job recruitment takes place through the contractor system ?

TSIl H ATHATHRU 3R Tehieh TGl WHITGAT o HIEIH O TS 9ga™
LTI i o1 AT g T ? 4

How do states try to establish national 1dentities through assimilationist
and integrationist strategies ?
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Qus T
SECTION C

TTHIOT AR o6 T TR Ueh Eclel T =) & 2
AT
IiER =S SR hl Thadr 3T fawadar 1 favamor hifsm |

Why are cities a preferred destination for rural people ?

OR

Analyse the success and failure of the family planning programme.

Tsh STAYUNUN o &Y H HEhdIhUl bl SATAEHT Hid I oy &G <l s
$ITTT |

GOC
qfg=rHTeRtul ok feiid= 9gdel <l fere=m shifs |

Examine the different levels at which Sanskritzation has been criticized

as a concept.
OR

Discuss the various aspects of Westernization.

QTSR0 MGIe STFER MY AN g9 o el ol Ui 3 &id & | 3UT®
3CTELUT Gt TIY hITWIT |

HYJT

YA § U 3R T A1 TGl o ste T8¢ T AT Givehd & | foe=m
HITTT |

Environmental movements often also indicate to economic and identity

issues. Explain it by giving suitable example.
OR

In India 1t 1s difficult to make a clear distinction between the old and new
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fqu U 7= il 4T IR = TSU T AT o I GIIT |

eyl 3R T3l o o9 Sifas R it Tase 37atl o HRU T Tg! guet
STl & fob <ifiTeh STEHEdT Yehid sl &1 &4 2 | Tohd 39 wT8{l fe@ree o SeNg
ﬁﬁﬁﬁ%ﬁiﬁﬁmé%waﬁi%ﬁ%aﬁawmﬁ
dfceh BN & | 3CT8WT o [T, UH hig Sifdeh hRU dal ¢ETs qd o I8
TS Bl Hob Toh HraS(Heh Ahadd dgl W =1 341 S8 G § &1 U3 ATl &
AR 9 & Jhid H 39 T I iz T IR HAd & o6 Afeepmer garsi |
AMIR W TS0 I ITRATeh qURd ol SISl &0 #1 fHeral g A9al Toehd
Tai TUear | Aferd 99 U &1 W89 M H 8 3, 39hl I U 39
I o oY § Teh Jaaiayq deb a1 Srat & fob Ifq =t af@m b giean
g9 3TN qIETEh 9uid bl IAUTTHR B UM o Toiu Sifaesh &9 d = of
T HTqasiia |1 (S8 hidl oh1 AT HHTS BIAT AT 3T WL sh1 WIET HHTS
Gﬁmﬁﬁnmaaﬁa%)ﬂﬁaﬁwma%ﬁaaﬁ@9mm
auTsl H T fopaml qem ATt o ®9 W 79T HH hAIdgach sy hidl
W2 29T |, TBY a1 foi o sfte STHEdar ol i Sifdeh SHRul T8l & |

(1) ST 3eg 1 3AY T 8 ?
(§) Tqaan 8 ga H3iEerst i THEar U SRl o JoN hi 9&9 | A1l
HITT |

Read the given passage and answer following questions :

Because of the obvious biological and physical differences between men
and women, gender inequality is often treated as natural. However,
despite appearances, scholars have shown that the inequalities between
men and women are social, rather than natural. For example, there are
no biological reasons that can explain why so few women are found in
positions of public power. Nor can nature explain why women generally
receive a smaller or no share 1n family property in most societies. But the
strongest argument comes from the societies that were different from the
‘normal’ or common pattern. If women were biologically unfit to be
inheritors and heads of families, how did matrilineal societies (as the
Nairs of Kerala used to be, and as the Khasis of Meghalaya still are)
work for centuries ? How have women managed to be successful farmers
and traders in so many African societies ? There 1s, in short, nothing
biological about the inequalities that mark the relations between women
and men.

(a)  Give the meaning of word ‘gender’.

(b)  Briefly explain the struggle for women’s equality and rights before

independence.
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